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Get Next of ciscoMgnt.810.1.2.1.1 (24004 nsecs)

*May 24 01: 30:48. 463: %SNVP- 3- RESPONSE_DELAYED: processing Get Next of ciscowgnt.810.1.2.1.1


https://www.cisco.com/c/ko_kr/support/docs/dial-access/asynchronous-connections/17016-techtip-conventions.html

(24008 nsecs)
--->1In this scenario ciscowvgnt.810.1.2.1.1 is the O D causes the issue.

*May 24 01:31:12.477: % SNVP- 3- RESPONSE_DELAYED: processing Get Next of ciscognt.810.1.2.1.1
(24012 msecs)

*May 24 01:31: 36.486: %SNVP- 3- RESPONSE_DELAYED: processing Get Next of ciscognt.810.1.2.1.1
(24008 nsecs)

*May 24 01:32:00.503: %SNVP- 3- RESPONSE_DELAYED: processing Get Next of ciscowgnt.810.1.3.1.1
(24016 nsecs)

*May 24 01:32:24.515: %SNWP- 3- RESPONSE_DELAYED: processing Get Next of ciscowgnt.810.1.3.1.1
(24012 msecs)

*May 24 01: 32:48.528: %SNVP- 3- RESPONSE_DELAYED: processing Get Next of ciscognt.810.1.3.1.1
(24012 msecs)

*May 24 01:33:12.537: %SNWP- 3- RESPONSE_DELAYED: processing Get Next of ciscowgnt.810.1.3.1.1
(24008 nsecs)
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snnp-server comunity TAC1L RO

snnp-server comunity TAC2 RO --> If nultiple conmunities are added to device.

SNMPv32| B2

snnp-server view TESTV3 iso include
#snnp-server group TestGroupV3 v3 auth read TESTV3

#snnp-server user cisco TestGoupV3 v3 auth nd5 ciscorules priv des56 ciscol23
ClHto|A S| ZAL|T B0l REE A|&5tT SNMP ZAI|2go|MHo| E7|& F7tstod B EFLICEH

SNMPv22| B2

snnp-server community TACL RO view cutdown RO

snnp-server conmmunity TAC2 RO vi ew cut down RO
An|agold 2Eo| UL H:

snnp-server view cutdown iso included
snnp-server view cutdown ci scoMgnt. 810 excl uded -->>>

The Idea is to exclude the O D causes the issue, however,
pl ease read out what is the function of the O D that that is excluded.

SNMPv32| A

#snnp- server view TESTV3 internet included

#snnp- server view TESTV3 ci scoMgnt. 810 excl uded



#snnp-server group TestGoupV3 v3 priv wite TESTV3
2."SNMP EHA| FHA|Z QIEH =2 CPU AL E" 2F HIAIXI.

#show processes cpu sorted

CPU utilization for five seconds: 99% 0% one mnute: 22% five mnutes: 18%

PI D Runt i me( ns) I nvoked uSecs 5Sec IMn 5M n TTY Process
447 561399 143012 3925 0. 00% 1.58% 1.83% 0 Snnp Fl ash Cache
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%SYS-2-SIGPENDING: Z 2 AM|A 91 -Process= "Snmp Z2HA| FHA[", ipl= 0, pid= 910 024 & &
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2 H|gMd3stE|o] & LICt snmp mib flash cache &

ZciAIMIBHIO|E =& ZEMAE 72X
Ao et CPU7t =7 LHEFS &= Ql&L|Ct.

S ME35I0{(CHA| EE &) A5} 510

CHAl, Z4x| 284041 2 =0l M #no snmp mib flash cache W& AFREFLICH

event nmanager applet SNMP aut horization bypass

event syslog pattern "SYS-5- RESTART"



action 11 cli conmmand "enabl e"
action 12 cli command "conf t"
action 13 cli command "no snnmp nib flash cache"

action 14 cli command "end"

3. 2F HIAIX]: "%SNMP-3-INPUT_QFULL_ERR: 2 #7} & Xt I{Z! O] A K| =|A&L|Ct"
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BO2#show snnp stats oid

time-stanp #of times requested ab

15:40: 19 BKK Dec 27 2019 11180008 ifAlias

15:40: 19 BKK Dec 27 2019 44018183 dot 1dBasePort Entry. 4

15: 40: 19 BKK Dec 27 2019 44018212 dot 1dBasePortEntry. 3

15: 40: 19 BKK Dec 27 2019 45216156 i pNet ToPhysi cal Entry. 4

15: 40: 19 BKK Dec 27 2019 44018059 dot 1dBasePortEntry. 5

15: 40: 19 BKK Dec 27 2019 44578303 dot 1dBasePortEntry. 1

15:40: 19 BKK Dec 27 2019 6011756 dot 3StatsEntry. 19

15:40: 19 BKK Dec 27 2019 11095925 i f Speed

15:40: 19 BKK Dec 27 2019 12879927 dot 1dTpFdbEntry. 3

15: 40: 19 BKK Dec 27 2019 84535 vimvenber shi pSumrar yEntry. 2
15: 40: 19 BKK Dec 27 2019 3241107 vimvenber shi pSumrar yEntry. 3
15:40: 19 BKK Dec 27 2019 45208908 i pNet ToMedi aEntry. 2

15: 40: 19 BKK Dec 27 2019 45223410 i pNet ToPhysi cal Entry. 6
15:40: 19 BKK Dec 27 2019 44018324 dot 1dBasePortEntry. 2
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#show processes cpu sorted

CPU utilization for five seconds: 99% 0% one nminute: 22% five mnutes: 18%

PI D Runt i me( ns) I nvoked uSecs 5Sec 1M n 5Mn TTY
Process

189 1535478456 697105815 2202 88. 15% 13. 40% 8.74% 0 SNVP ENG NE
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8h21 1. show snmp stats oid @HE S AFSELICH

show snmp stats oid &2 Z 2 0tX|2F Ol EAELCH EIUARMT E = MHOHE EAIRFLICH
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#show snnp stats oid

time-stanp #of times request ed a

14: 34: 38 CET Cct 25 2020 24 atEntry. 2
14:34:29 CET Cct 25 2020 40 atEntry. 1
14:34:11 CET Cct 25 2020 11 ifQutErrors
14:34: 07 CET Cct 25 2020 10 i f Qut Di scards
14:34: 06 CET Cct 25 2020 10 i f Qut Ucast Pkt s
14:34: 06 CET Cct 25 2020 10 ifQutCctets
14:34: 05 CET Cct 25 2020 10 i f1 nUnknownPr ot os
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CIHIO|AOIAM =2 CPU AFEEE HY 5= OIDE H#22{MH snmpwak NMS AEH{ Q| I:-“:”'O'/\O‘" %]
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snnp-server comunity TAC1L RO

snnp-server comunity TAC2 RO --> If nultiple conmunities are added to snnp.

- SNMPv32e| B2

snnp-server view TESTV3 iso include
#snnp-server group Test G oupV3 v3 auth read TESTV3

#snnp- server user cisco Test GoupV3 v3 auth nd5 ciscorules priv des56 ciscol23
ClHtolAa o] Au[as|olM BEEE AlZFet SNMP x| ago|Mol E7|& F7tstod HHEELICE.

- SNMPv22| B2

snnp-server conmmunity TACL RO view cutdown RO

snnp-server conmunity TAC2 RO vi ew cut down RO
Au|agolM 2EM S & FIHELICH

snnp-server view cutdown iso included

snnp-server view cutdown O D _causes_the issue_is _to_excluded excluded
-->>> The ldea is to exclude the O D causes the issue, however,
pl ease read out what is the function of the O D that we are about to excl ude.
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/content/en/us/td/docs/optical/15000r/dwdm/configuration/guide/b_snmp.html
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